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ose the correct answer :

1. Answer/Cho
1x8=8

(@) Why is money called a ‘highly liquid

asset’?

(b) What is stagflation?
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(c) De
mand for money refers t
o}

(i) public w:
cash wish to hold money in

(i ARy
) Public wish ¢ spend
nd money

(iv) None
of the
abOVe

4 Which of e

trUe regarging o0

8 SLR?g Statements is

(i) To
meet
Can USeSL » Comm .
cash onjy creial banks
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(@ SLR
comméfcialmajntain ed
with
(Ill) Both (l) Li ;
A (i)
(iv) N
a Ove

(e) According to Keynes,

Plﬁlzan

(3)

economic

fluctuation 1is due to

(i) higher Jevel of aggregate supply

(i) changes in the level of aggregate
effective demand

(iii) changes in the level of

investment function :

(iv) None of the above

(f) Credit creation 18 the important

function of

mercial bank and non-

(i) com
al institution

banking financi

(u) commercial bank

(iii) nonbanking financial institution
(iv) None€ of the above

( Turm over)



( 4)

(g) Under fu] employment

called inflation is

(i) partial inflation
(i) sectora] inﬂatio‘n
(iit) sporadic inflatiop

(it) None of the abgye

of India

: Ommercjal Bornlis
(v) Ay of the ab :

p16/233
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(5)

| 1 the
% 2. Write short notes 0n any four of

Al ds each) :
following (within 150 wor 4x4=16

1ppl
(a) Determinants of money Supply

- (b) Phillips curve

(¢c) Meaning and phases of trade cycle

m. . . o0
(d) Nonbanking financial intermediarie

in India

(e) Functions of capital

measures of credit

(f) Quantitative
control

i ithin 500
Answer the following questions (withi ‘

Words each) :

do ‘you mean by value of

A g » Discuss the superiorities orf
mo?leyl;alance approach over cas
cas

approach. Mention

transaction AR 2+6+4=12

Keynesian V1

( Turn over )
Ple/238



demand
Nk for
llmltations. R ith G
7+5=1
4. (@) Wrj
rite
~~ Notes on the followino . 5+6=1!
gic:

{l} Inﬂat'
B eoviean
) Dlstincthn b
lnﬂatiOn on

etWeen demand_.
Hod cost-push

Or

(b) What ;
at
role of el Objectivesy b'What ety
€ctive Credit ézeuss the
ntrol in

=11

monet Y ex Y business
Y theo Plain Hawtrey’s

ry ;
~of busmess cycle.

1
(b) Zif

‘thEOry of
) Important

€ tycle,
3+8=1}

P16/23g

» 6. (a)

7. (a)

L ]

(7¥)

Discuss various objectives of bank’s
portfolio management. How far can
these objectives be achieved? 7+4=11

Or

Examine the role of commercial
banks and rural banks in
agricultural development in India.
What are the problems faced by

these banks? 8+3=11

(b)

arket? What are its
nctions? Mention
between —money

What is capital m
components and fu
differences

two
market and capital market. 2+7+2=11
Or
(b) Discuss various financial sector
reforms undertaken by the Central
Govemment. 11
* &k
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